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105539%
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105539%
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105539%

10553¢ =
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-1055396
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-1055393
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-1055391
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-1055387

-1055386

-1055385

-1055384

-1055383

-1055382

-1055381

-1055380

-1055379

-1055378
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105539%

10553¢ =

105539%

10553¢ =

105539%

10553¢ =

105539%

10553¢ =

105539%

10553¢ =

105539%
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105539%
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105539%
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105539%
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105539%
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-1055377

-1055376

-1055375
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-1055373

-1055372

-1055371
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-1055367

-1055366
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-1055360
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-1055357

-1055356

-1055355
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45

46
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49

50

10553¢ = -1055354

105539% -1055353

10553¢ = -1055352

105539% -1055351

10553¢ = -1055350

105539% -1055349

10553¢€ = -1055348

105539% -1055347
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